MAKING CHRISTIAN LIFE CHURCH

"Enlarge the place of your tent, stretch your tent curtains wide, do not hold back; lengthen your cords, strengthen your stakes.

ISAIAH 54:2



LET'S MAKE ROOM FOR MORE

We are excited to share a powerful vision for Christian Life Church. God has richly blessed us, and now He's calling us to something even greater—to make room for more! We're entering a new season at CLC, a season of building a vibrant community that will impact generations to come. We anticipate 2025 to be a landmark year, marked by increased salvations, strengthened discipleship, the empowering of individuals, and the intentional creation of a welcoming space for all. We will venture into new areas, undertake new initiatives, reach new communities, and make room for growth. The time is now! Let's make room for more!

PASTOR JEREMY AND PASTOR MEG

REVIAL

We're making room for revival! Our church building is getting a makeover to better reflect the vibrant spirit within. This project will revitalize our entire exterior, from a much-needed new roof and eye-catching new signage, to a fresh coat of paint that will breathe new life into our facade. Beyond aesthetics, we're also updating and connecting the sanctuary and education building, creating a more seamless and welcoming experience for all who enter. These improvements will not only enhance our curb appeal but also symbolize the spiritual renewal we seek.









WE MAKE ROOM FOR MORE

COMMUNITY

We're making room for community at CLC! Our exciting building expansion project will create a welcoming new foyer and commons area, additional restrooms, updated broadcast and audio spaces, an expanded kitchen, and a vibrant café space. These new spaces will allow us to better connect with one another, host more community events, and expand our outreach programs, ultimately allowing us to welcome even more people into our church family.









 \supset















OUR GOAL

\$1,767,000

YEAR 1 - PLEDGED AND GIVEN

\$1,767,000

YEAR 2 - PLEDGED AND GIVEN

\$1,767,000

FINANCED



\$5,300,000

TOTAL BUILDING COST

ANNUAL GOALS

C:E	Dellen	Tatal	
Gift Needed	Dollar Amount	Total Amount	
Needed	Amount	Amount	
1	\$100,000	\$100,000	
3	\$75,000	\$225,000	
4	\$50,000	\$200,000	
5	\$35,000	\$175,000	
8	\$25,000	\$200,000	
10	\$15,000	\$150,000	
20	\$10,000	\$200,000	
28	\$7,000	\$196,000	
35	\$5,000	\$175,000	
40	\$2,500	\$100,000	
48	\$1,000	\$48,000	
Total Givers		Total	
200		\$1,767,000	

Gift Needed	Dollar Amount	Total Amount	
1	\$100,000	\$100,000	
3	\$75,000	\$225,000	
4	\$50,000	\$200,000	
5	\$35,000	\$175,000	
8	\$25,000	\$200,000	
10	\$15,000	\$150,000	
20	\$10,000	\$200,000	
28	\$7,000	\$196,000	
35	\$5,000	\$175,000	
40	\$2,500	\$100,000	
48	\$1,000	\$48,000	
Total Givers		Total	
200		\$1,767,000	

WE MAKE ROOM FOR MORE

MIRACLES

PRAY

Pray about how you can get involved in ministry and pray about what God would have give.

PLEDGE

Submit a pledge card in service or online.

Over the course of the next year, honor God with your faith by giving weekly, monthly or annually.

OPPORTUNITIES FOR GIVING					
WEEKLY	MONTHLY	ANNUALLY			
\$1923	\$8333	\$100,000			
\$1442	\$6250	\$75,000			
\$962	\$4167	\$50,000			
\$673	\$2917	\$35,000			
\$462	\$2000	\$24,000			
\$346	\$1500	\$18,000			
\$231	\$1000	\$12,000			
\$173	\$750	\$9000			
\$115	\$500	\$6000			
\$92	\$400	\$4800			
\$69	\$300	\$3600			
\$46	\$200	\$2400			
\$23	\$100	\$1200			

MAYS TO GIVE



Text any amount to 84321



Cash or check



TIMELINE

MARCH 16

APRIL 13

JUNE

DECEMBER 31

CAMPAIGN LAUNCH DAY

KICK START OFFERING

GROUNDBREAKING

YEAR I GOAL RAISED

THANK YOU

Christian Life Church 2490 Valleydale Road Birmingham, AL 35244 (205)982-0222 Giving@clcbham.com









RENDERINGS PROVIDED BY



TURNERBATSON

These renderings are conceptual in nature. It is for representational purposes only and is subject to change. All plans, features, specifications, amenities, finishes, and decorative objects as depicted may vary from the built product.

